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Inverse of Functions - Let's Look at the Graphsl

-jraph the function y : 

" 

+ 3 by determining the mapping notation and creating a table ofvalues. State the domain and rangeof the function.
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Graph a new function by "switching" the x values and y values from the function above.
I[ilt'#,l"T: trff T, :l*.j::t;; r ;;; lvour o you des cri be th e invers e ? wh at'"'transformation" has taken place? State the domai, ffi,i#;frfi:il::r:ffit'#ilr.What do you notice about the domain and;G;
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-ionclusions:



Question #1
dnaph the lnverse of the fullowing functions. State the domain and range of the inverse.
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